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16

pg/L pg/g-dry pg/g-wet pg/m’
8 38 63 189 1( ) 2 ( )
731 14 70 210 37 37 37 37
C ( C < C ( < < C
1 PCB 140 4,400 630 |38 1,300,000 7,300|1,500 150,000 7,700{990 540,000 15,000(5,900 13,000 8,900 25 3,300 240 20 1,500 130
(38/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
2 tr(11) 180 30 |tr(6) 25,000 130 14 80 30 26 1,800 220 410 2,200 970 47 430 130 51 390 98
(38/38) (63/63) /1) (14/14) (2/2) (37/37) (37/37)
3
31 nd 13 tr(1.5) nd 390 9 nd 46 tr(1.7)] nd tr(2.4) nd nd nd nd 14 tr(0.12)| nd 13 tr(0.08)
(33/38) (62/63) (4/7) (2/14) (0/2) (15/37) (14/37)
3.2 9 430 55 [tr(1.9) 3,700 58 42 69,000 510 |tr(23) 2,800 240 370 960 590 1.1 280 17 0.81 76 55
(38/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
33 tr(0.7) 100 7 nd 6,900 13 | tr(5.7) 4,600 54 nd 220 18 nd 62 tr(11) | tr(0.054) 6.5 0.64 nd 1.9 0.23
(38/38) (63/63) @/7) (13/14) (1/2) (37/37) (36/37)
4
41 o0~ nd 310 15 7 98,000 330 48 2,600 280 | 5.5 53,000 310 160 700 330 0.41 37 4.7 0.29 13 1.8
(36/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
4-3 o0~ tr(6) 680 36 8 39,000 630 220 8,400 1,000|390 52,000 2,500 (6,800 200,000 34,000 0.62 95 6.1 0.85 43 2.9
(38/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
4-5 o0~ tr(2.4) 740 19 4 75,000 550 7.8 8,900 300 56 9,700 640 52 1,400 310 |tr(0.036) 1.4 0.24 [tr(0.025) 0.91 0.12
(38/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
4-2 op- nd 85 tr(4.5)|tr(1.1) 17,000 52 20 910 130 | 3.7 1,800 130 tr(0.9) 43 7.7 0.54 22 5.1 035 9.4 1.5
(29/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
4-4 0p- tr(0.6) 170 3 nd 28,000 35 19 360 70 [tr(0.9) 5,800 68 nd 3.7 tr(1.0) 0.14 8.9 1.1 0.14 3.9 0.53
(38/38) (63/63) (7/7) (14/14) (1/2) (37/37) (37/37)
46 | op- tr(0.7) 81 6 |[tr(0.7) 16,000 120 [ 6.0 2,800 160 | nd 1,700 100 nd 25 tr(5.6) [ tr(0.052) 2.6 0.31 | nd 0.86 0.14
(38/38) (63/63) /1) (14/14) (2/2) (37/37) (35/37)
5
5.1 trans- 5 1,200 32 3 26,000 95 53 2,800 510 |tr(17) 5,200 190 nd tr(26) tr(14) 2.2 1,300 110 1.5 360 35
(38/38) (63/63) (7/7) (14/14) (1/2) (37/37) (37/37)
5.2 Cis- 10 1,900 92 4 36,000 140 91 14,000 1,200 68 9,800 580 tr(5.8) 240 39 2.3 1,000 92 1.2 290 29
(38/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
5.3 trans- tr(3) 1,100 25 3 23,000 83 110 3,400 710 | 140 21,000 1,000 | 390 1,200 680 1.9 870 72 0.95 240 23
(38/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
5.4 cis- 0.8 340 7.5 [tr(0.8) 9,400 46 43 1,800 280 | 48 10,000 410 73 240 130 0.36 130 10 0.087 28 2.7
(38/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
5.5 tr(0.7) 47 3.2 nd 140 tr(2.0)] 14 1,700 110 25 1,500 150 320 730 460 041 7.8 1.9 0.27 3.9 0.80
(38/38) (54/63) (7/7) (14/14) (2/2) (37/37) (37/37)
6
61 nd 29 nd nd 170 tr(25) nd 16  tr(3.5) nd 460 tr(1.9)| nd tr(1.5) nd 0.46 200 23 0.53 100 11
(9/38) (53/63) (6/7) (11/14) (1/2) (37/37) (37/37)
6-2 trans- nd nd nd tr(2.5) nd nd 55 tr(4.0)| nd tr(10) nd nd nd nd tr(0.38) nd nd nd
(0/38) (1/63) (2/7) (2/14) (0/2) (4/37) (0/37)
6-3 cis- 277 10 nd 230 tr(4.4) tr(9.8) 840 57 |tr(3.3) 620 46 190 350 270 0.65 9.7 2.8 0.44 7.0 11
(38/38) (52/63) /1) (14/14) (2/2) (37/37) (37/37)
7
7.1 Parlar-26 nd nd nd nd nd tr(32) nd nd 1,000 tr(40) nd 810 71 | tr(0.17) 0.46 0.27 |tr(0.094) 0.50 tr(0.15)
(0/38) (0/63) (3/7) (13/14) (1/2) (37/37) (37/37)
) Parlar-50 nd nd nd nd nd tr(45) tr(16)| nd 1,300 54 nd 1,000 83 nd nd nd nd
(0/38) (0/63) (3/7) (14/14) (1/2) (0/37) (0/37)
7.3 | Parlar-62 nd nd nd nd nd nd nd 870 nd nd 280 tr(64) nd nd nd nd
(0/38) (0/63) (0/7) (7/14) (1/2) (0/37) (0/37)
8 nd 1.1 nd nd 220 21 | tr11) 12 45| 3.8 180 11 33 110 61 [tr(0.042) 0.16 0.099 [tr(0.019) 0.23 tr(0.046)|
(18/38) (55/63) (7/7) (14/14) (2/2) (37/37) (37/37)
9
9.1 a- 13 5,700 150 |tr(1.5) 5,700 140 | tr(12) 1,800 35 nd 2,900 57 58 1,600 120 24 3,200 160 11 680 68
(38/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
9-2 B - 31 3,400 260 4 53,000 220 22 1,800 69 |tr(3.9) 1,100 100 | 1,100 4,800 2,200 0.53 110 6.6 0.32 78 2.6
(38/38) (63/63) (7/7) (14/14) (2/2) (37/37) (37/37)
93 | y- 21 8,200 91 |tr(0.8) 4,100 46 nd 230  tr(19)| nd 660  tr(27) | tr(11) 1,200 34 4.5 860 46 2.6 230 19
(38/38) (63/63) (7/7) (11/14) (2/2) (37/37) (37/37)
9a | 5- tr(1.4) 670 24 |tr(0.5) 5,500 48 nd 1,500 tr(3.0) nd 270 tr(4.1)| 6.4 260 16 0.15 93 2.2 | tr0.07) 18 0.76
(38/38) (63/63) (6/7) (11/14) (2/2) (37/37) (37/37)
ng/L ng/g-dry ng/g-wet pg/m®
8 38 63 189 1( ) 2 ( )
731 14 70 210 37 37 37 37
C ( C < C ( < < C
10 HBB nd nd nd 34 nd nd nd | nd tr(0.12) nd nd nd nd 610 tr(18) nd 380 nd
(0/38) (15/63) (0/7) (1/14) (0/2) (27/37) (12/37)
11 poT nd nd nd 88 tr(2.6) nd nd nd tr(2.5) nd nd nd
(0/38) (33/63) (0/7) (1/14) (0/2)

nd

172



16 [
1 ( ) 2 ( )
(pg/L) (pg/g-dry) (pg/g-wet) (pg/g-wet) (pg/g-wet) (pg/m’) (pg/m*)
1 pcB (9 04 10 02 2 21 18 21 18 2.1 18 0.024 0.99 0.024 0.99
[0.2 4] [0.06_0.6] [0.61 6.1] [0.61 6.1] [0.61 6.1] [0.0081 0.33] [0.0081 0.33]
5 30 7 14 14 14 1.1 1.1
[8] [3] [4.6] [4.6] [4.6] [0.37] [0.37]
3
a1 2 2 4 4 4 0.15 0.15
[0.4] [0.6] [1.3] [1.3] [1.3] [0.05] [0.05]
32 2 3 31 31 31 0.33 0.33
[0.5] [0.9] [10] [10] [10] [0.11] [0.11]
23 2 3 12 12 12 0.14 0.14
[0.5] [0.9] [4.2] [4.2] [4.2] [0.048] [0.048]
4
- . 6 2 3.2 3.2 3.2 0.22 0.22
PP 2 [0.5] [L.1] [L.1] [L1] [0.074] [0.074]
43| pp’- 8 3 8.2 8.2 8.2 0.12 0.12
’ [3] [0.8] [2.7] [2.7] [2.7] [0.039] [0.039]
o5 | ppr- 3 2 2.2 2.2 2.2 0.053 0.053
’ [0.8] [0.7] [0.7] [0.7] [0.7] [0.018] [0.018]
42| opr- 5 2 1.8 1.8 1.8 0.093 0.093
’ [21 [0.6] [0.61] [0.61] [0.61] [0.031] [0.031]
sa | opr- 2 3 2.1 2.1 2.1 0.037 0.037
’ [0.5] [0.8] [0.69] [0.69] [0.69] [0.012] [0.012]
a6 | op- 2 2 5.7 5.7 5.7 0.14 0.14
' [0.5] [0.5] [1.9] [1.9] [1.9] [0.048] [0.048]
5
5-1 | trans- 5 3 48 48 48 0.69 0.69
[2] [0.9] [16] [16] [16] [0.23] [0.23]
5.2 | s 6 4 18 18 18 0.57 0.57
[2] [2] [5.8] [5.8] [5.8] [0.19] [0.19]
53 | tans. 4 2 13 13 13 0.48 0.48
2] [0.6] [4.2] [4.2] [4.2] [0.16] [0.16]
ca | o 0.6 2 3.4 3.4 3.4 0.072 0.072
[0.2] [0.6] [1.1] [1.1] [1.1 [0.024] [0.024]
s 2 3 9.2 9.2 9.2 0.13 0.13
[0.5] [0.8] [3.1] [3.1] [38.1] [0.042] [0.042]
6
61 5 3 4.1 4.1 4.1 0.23 0.23
[21 [0.9] [1.4] [1.4] [1.4] [0.078] [0.078]
6-2 trans- 0.9 4 12 12 12 0.6 0.6
[0.3] [2] [41 [41 [41 [0.2] [0.2]
63 | o 2 6 9.9 9.9 9.9 0.052 0.052
[0.4] [2] [3.3] [3.3] [3.3] [0.017] [0.017]
7
9 60 42 42 42 0.20 0.20
7-1 | Parlar-26 3] [20] [14] [14] [14] [0.066] [0.066]
72| Ppartar-s0 20 60 46 46 46 1.2 1.2
71 [20] [15] [15] [15] [0.4] [0.4]
73| Partar-s2 2 2,000 98 98 98 2.4 2.4
[30] [400] [33] [33] [33] [0.81] [0.81]
s 0.4 2 25 25 2.5 0.05 0.05
[0.2] [0.5] [0.82] [0.82] [0.82] [0.017] [0.017]
9
o1l a- 6 2 13 13 13 0.33 0.33
[2] [0.6] [4.3] [4.3] [4.3] [0.11] [0.11]
02| p- 4 3 6.1 6.1 6.1 0.12 0.12
[2] [0.8] [2.0] [2.0] [2.0] [0.041] [0.041]
o3| y- 20 2 31 31 31 0.23 0.23
7 [0.5] [10] [10] [10] [0.076] [0.076]
9| 5- 2 2 4.6 4.6 46 0.15 0.15
[0.7] [0.5] [1.5] [1.5] [1.5] [0.05] [0.05]
1 ( ) 2 ( )
(ng/L) (ng/g-dry) (ng/g-wet) (ng/g-wet) (ng/g-wet) (pg/m%) (pg/m°)
10 BB 2.0 2.7 0.3 0.3 0.3 29 29
[0.6] [0.9] [0.1] [0.1] [0.1] [9.7] [9.7]
5.5 6.0 3 3 3
noeer [1.9] [2.] 1] [1] [1]
( [1
( 3
( PCB 1 10) PCB(14 )
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